
Unscrew bolts from

underneath Disconnect coupler

Stock motor unit

YOSHIMURA JAPAN CO., LTD.    PRODUCT INSTALLATION INSTRUCTION  MANUAL

Be sure to read the instruction carefully before starting the work. It is necessary to follow the contents to install 

Yoshimura product.

Parts Diagram

SUZUKI  GSX-S1000 STREET SPORTS 
STAINLESS FULL SYSTEM R-11 SINGLE EXIT

In combination with the Header Assy and 
Tailpipe of this Street Sports full system, 
the silencer EEC Approval is invalid.

このマフラーの取り付けには、リアサス

ペンションを取り外す必要があります。

外し方につきましてはサービスマニュア

ルを参照して下さい。

CAUTION

GSX-R1000/R OPT EXP 1/6

Product information

1.  Product Information :

Part Number

Stainless Sleeve        (SS)

Metal Magic Sleeve   (SM)

Titanium Sleeve         (ST)

Titanium Blue Sleeve (STB)

: 170-196-5F50

: 170-196-5F20

: 170-196-5F80

: 170-196-5F80B

Description SUZUKI GSX-S1000/F Street Sports Stainless Full System R-11 Single Exit

Cyclone Type 

Main Material

S196S11C2 

Stainless steel 

(SS) & (SM) 

(ST) & (STB) 

: 6.3kg 

: 6.1kg

Weight
    [STD : 10.4kg]

1

2

3

4

15

15

9

5

6

7

8

12

10

11

16
17

18

19

14

13

2.  Contents:

ＮＯ． 品名 数 品番 ＮＯ． 品名 数 品番

1 エキゾーストパイプ＃１ 1 181-196-5F00 10 平ワッシャＭ８×２６ 2 812-108-2600

2 エキゾーストパイプ＃２ 1 182-196-5F00 11 グロメットラバー 1 553-565-0000

3 エキゾーストパイプ＃３ 1 183-196-5F00 12 グロメットカラー 1 850-208-1212

4 エキゾーストパイプ＃４ 1 184-196-5F00 13 フランジナットＭ８ 1 823-008-1250

5 集合部 1 119-196-5000 14 マフラースプリング（フローティング） 2 118-001-0000

6 テールパイプ 1 185-196-5F00 15 マフラースプリングロング 5 118-000-1000

7

サイレンサー（ステンレスカバー）

1

1A6-196-5E50 16 排気バタフライキャンセルステー 1 148-984-0021

サイレンサー（メタルマジックカバー） 1A6-196-5E20 17 アルミカラー 1 860-012-2007

サイレンサー（チタンカバー） 1A6-196-5E80 18 ＳＵＳワッシャＭ１２ 1 812-512-1815

サイレンサー（チタンブルーカバー） 1A6-196-5E80B 19 ＳＵＳワッシャＭ５ 1 812-105-0000

8 サイレンサーステー 1 161-196-0300 ※ スプリングインナーチューブ 5 118-000-1100

9 キャップボルトＭ８×３０ 3 800-208-5030

Before beginning installation, let motorcycle 

cool down.

Metal Magic sleeve is coated with heat-

resistant paint. Handle with care not to be hit 

or scratched by surroundings as the coating 

may come off. When cleaning silencer, use 

soft cloth with dish soap but do not use metal 

polish or chemical cleaner. 

CAUTION

Titanium Blue sleeve is colored by anodizing. 

Handle with care as the color may change. 

When cleaning silencer, use soft cloth with 

dish soap but do not use metal polish or 

chemical cleaner. 

CAUTION

Be sure not to damage each part during 

installation. 

Torque specification must be followed. If 

neglected, it may cause bolt and nut to fall off 

and damage to Yoshimura product and 

motorcycle.

CAUTION

CAUTION

CAUTION

4.  Installation steps:

Fig. 1 Fig. 1 

Fig. 3Fig. 3

Fig. 4Fig. 4

GSX-R1000/R OPT EXP 2/6 GSX-R1000/R OPT EXP 3/6 GSX-R1000/R OPT EXP 4/6 GSX-R1000/R OPT EXP 5/6 GSX-R1000/R OPT EXP 6/6

Fig. 2Fig. 2

Spring Inner Tube

Exhaust Spring

3) マフラースプリングにスプリングインナーチューブ

を入れて下さい。（ＦＩＧ．２参照）

4) シート、リアシート、テールカウルを外し、リアサスペ

ンションを外して下さい。

5) 排気バルブモーターのカプラーを外し、排気バルブモー

ターを車両から取り外して下さい。（ＦＩＧ．３参照）

モーターユニットのモータープーリーが回らない様に注

意しながらモータープーリーを留めるボルトを外し、モ

ータープーリーをモーターユニットから取り外して下さい。

（ＦＩＧ．４参照）

GSX-S1000の場合はアンダーカウルを、

GSX-S1000Fの場合はサイドカウルを外

す必要があります。

REFERENCE

REFERENCE

1) Check all the component parts are in hand.

2) メーカー発行のサービスマニュアルを参照し、Ｏ２セン

サーのカプラーを外して下さい。

次に、純正マフラーからＯ２センサー、排気バルブワイ

ヤーを外してから純正マフラーを車両から取り外して下

さい。（ＦＩＧ．１参照）

CAUTION リアサスペンションを外す際はジャッ

キやメンテナンススタンドで車両を起

こし、車両が倒れないよう十分に注意

して作業して下さい。

CAUTION

6)

アルミカラー１２－ ２０－ ７、ＳＵＳワッシャＭ１

２、ＳＵＳワッシャＭ５、純正ボルトを使用して、

排気バタフライキャンセルステーをモーターユニッ

トに取り付け、規定トルクで締め付けて下さい。（Ｆ

ＩＧ．５，６参照）

7)

Stock bolt           : 5NmTightening Torque

CAUTION

Fig. 5Fig. 5 Fig. 11Fig. 11

Fig. 10Fig. 10

Fig. 12Fig. 12

Fig. 13Fig. 13

Fig. 14Fig. 14

Aluminum Spacer 12-20-7

Washer M12

Exhaust Control Valve Canceller Bracket

Stock motor pulley holder
Washer M5

Stock bolt

Stock motor unit

Sight from side

8) 排気バルブモーター、リアサスペンション、テールカウル、

リアシート、シートを元に戻して下さい。

12) 集合部に貼ってある識別ラベルの番号と同じ番号の

エキゾーストパイプを#4、#3、#1、#2の順番で集合

部に差し込み、エキゾーストパイプ#1、#3の切り欠

きを集合部の切り欠きと合わせて基準とし、エキゾ

ーストパイプ#1～ #4の間隔をエンジンの間隔に合う

様に調整します。次に、マフラースプリングを４ヶ

所取り付けて下さい。（ＦＩＧ．１１参照）

Make sure that Exhaust Spring is 
hooked to spring installation tool firmly. 
If neglected, it may cause injury.

CAUTION #4

#3

#2

#1

Exhaust Spring Long

Exhaust Collector

Fig. 7Fig. 7

9) サイレンサーステーにグロメットラバー、グロメッ

トカラーを取り付けて下さい。（ＦＩＧ．７参照）

10) 純正の右側タンデムステップを一旦取り外して、右

側タンデムステップ・サイレンサーステーの順に車

両に取り付け、キャップボルトＭ８×３０を使用し

て規定トルクで締め付けて下さい。（ＦＩＧ．８，

９参照）

11) 純正サイレンサー取付位置のグロメットカラーとグロメ

ットラバーを取り外して下さい。（ＦＩＧ．１０参照）

CAUTION Torque specification must be followed.

Tightening Torque Cap Bolt M8x30 : 23Nm

Grommet Rubber
/ Grommet Spacer

Silencer Bracket

Silencer Bracket

See Fig. 9 for 
installation. Passenger foot 

rest bracket

Silencer Bracket

Cap Bolt M8x30

Passenger foot 
rest bracket

Sub frame

Fig. 8Fig. 8

Fig. 8Fig. 8

Fig. 6Fig. 6

Fig. 5Fig. 5

Fig. 6Fig. 6

13) 集合部の識別ラベルをはがして、良く脱脂して下さ

い。

識別ラベルはエキゾーストパイプ取り付け

後、暖気運転前に必ず剥して下さい。 

ラベルを貼ったままエンジンを始動します

と、エキゾーストパイプ・集合部、に焼き

付いて色ムラとなって残ってしまいます。

CAUTION

14) 手順１２で組み立てたエキゾーストパイプをエンジ

ンの排気ポート部に取り付け、純正ボルトを使用し

て仮締めして下さい。（ＦＩＧ．１２，１３参照）

Fig. 9Fig. 9

15) 集合部にテールパイプを取り付け、マフラースプリ

ングを取り付けて下さい。（ＦＩＧ．１４参照）

Make sure that Exhaust Spring is 

hooked to spring installation tool firmly. 

If neglected, it may cause injury.

CAUTION

16) テールパイプにサイレンサーを取り付け、 マフラー

スプリングを取り付けて下さい。（ＦＩＧ．１５参照）

Make sure that Exhaust Spring is 

hooked to spring installation tool firmly. 

If neglected, it may cause injury.

CAUTION

17) サイレンサーをキャップボルトＭ８×３０、平ワッ

シャＭ８×２６、フランジナットＭ８を使用してサ

イレンサーステーに仮締めして下さい。（ＦＩＧ．

１６．１７参照）

18) 車輌後方から見てサイレンサーの角度やマフラーと

車輌のクリアランスを調整し、エキゾーストパイプ

→サイレンサーの順に規定トルクで締め付けて下さ

い。（ＦＩＧ．１８．１９参照）

CAUTION Torque specification must be followed.

Tightening Torque

Stock bolt at exhaust port 

Cap Bolt M8x30 at Silencer

: 15Nm

: 23Nm

CAUTION Torque specification must be followed.

Tightening Torque O2 sensor   : 25Nm

19) 手順２で外したＯ２センサーを集合部に規定トルクで締め付け、カプラーを元に戻して下さい。

20) It is recommended that whole Yoshimura exhaust system is wiped down with dish soap to remove oil and 

fingerprints. This will prevent tarnishing of finish after the exhaust system is heated up.

CAUTION When cleaning Silencer Assembly, use soft cloth with dish soap. Do not use metal polish or parts 

cleaner. If neglected, the paint of Emblem may come off or Titanium Blue color may tarnish.

3. Optional Part :

Description

SILENCER BRACKET SET

Part No.

194-196-0010

Motor unit

Motor unit Exhaust Collector

Tailpipe

Stock bolt

#4

#3

#2

#1

Exhaust Spring Long

Exhaust Collector

Exhaust Collector

Tailpipe

Stock bolt

Fig. 21Fig. 21Fig. 20Fig. 20

Fig. 16Fig. 16

Fig. 17Fig. 17

Fig. 18Fig. 18

Silencer Bracket

Cap Bolt M8x30

Flange Nut M8

Washer M8x26

OutsideInside

Sight from back

Silencer Assy

Fig. 15Fig. 15

Silencer Assy

See Fig. 17 for 
installation.

Silencer Assy

Exhaust Spring Short

Fig. 19Fig. 19

21) Warm-up engine, and inspect the exhaust leakage. If exhaust leakage is found, seal the gaps of joint with silicone 

gasket etc. Tighten all bolts further after engine is cooled down. If any problem is found, please follow through 

instruction steps carefully again.

It is normal for new silencer to smoke until inside oil residue burns off.

オイルフィルターを交換する際は、側面からフィルターを掴むオイルフィルターレンチを使用し

て下さい。(FIG.20, 21)　

REFERENCE

REFERENCE

REFERENCE

CAUTION

This exhaust is produced for street use only. In case that it is used on race circuit or tested on chassis dynometer, any 

damage or carbon discoloration is not included in warranty. 

Yoshimura Japan recommends silencer inner wool replacement every 5,000km (3,000miles) in order to get Yoshimura 

exhaust performance fully. Climate, riding condition, and frequency of ride are direct contributing factors for inner wool 

worn out. Keeping high engine revolution also promotes further wool consumption. For silencer repairing, please contact 

local Yoshimura distributor for further information.

Titanium Blue sleeve is colored by anodizing. Handle with care as the color may change. When cleaning silencer, use 

soft cloth with dish soap but do not use metal polish or chemical cleaner. 

CAUTION

- CAUTIONS AFTER INSTALLATION -
Check each bolt sometimes to see that there is no failure condition such as poor tightening. 

Quality control is implemented on all products. If, however, any defect or failure is found, please notify Yoshimura Japan 

through the selling dealer. Necessary technical service or replacing of the product will be made.

Due to improvement, the specifications and price of the product are subject to change without notice.

For any information regarding this product, please address inquiries to Yoshimura Japan Co., Ltd.

        Yoshimura Japan Co., Ltd. 

        6748 Nakatsu, Aikawa, Aiko, Kanagawa 243-0303 Japan

        Web site: http://www.yoshimura-jp.com   E-Mail: yj-world@yoshimura-jp.com

After Installation

22) カウルを元に戻して下さい。

オイルフィルターレンチ

オイルフィルターレンチ

オイルフィルター

YOSHIMURA JAPAN CO., LTD.    PRODUCT INSTALLATION INSTRUCTION  MANUAL

Be sure to read the instruction carefully before starting the work. It is necessary to follow the contents to install 

Yoshimura product.

Parts Diagram

SUZUKI  GSX-R1000/R OPTIONAL EXHAUST PIPE

GSX-R1000/R OPT EXP  1/6

Product information

1.  Product Information :
Description

Part Number

Cyclone Type

SUZUKI GSX-R1000/R Optional Exhaust Pipe

194-50A-0010

S50AS1QC3

Main Material Stainless steel

: 4.3kgWeight  [STD : 7.2kg]

4.  Contents:
 No.              Descriptions                        Part No.         Q'ty   No.                              Descriptions                                   Part No.        Q'ty

1

2 

3 

4 

5 

6 

7

8 

9 

10 

11 

12 

* 

*

181-50A-C100 

182-50A-C100 

183-50A-C100 

184-50A-C100 

119-414-5000 

185-50A-C100

823-006-1000

118-000-1000

148-984-0021 

860-012-2007 

812-512-1815

812-105-0000 

118-000-1100

896-001-005A

Exhaust Pipe #1

Exhaust Pipe #2

Exhaust Pipe #3

Exhaust Pipe #4

Exhaust Collector

Tailpipe 

Flange Nut M8

Exhaust Spring Long

Exhaust Control Valve Canceller Bracket 

Aluminum Spacer 12-20-7 

Washer M12

Washer M5 

Spring Inner Tube

Heat Resistant Sheet

1 

1 

1 

1 

1 

1

1

5 

1 

1 

1 

1 

5

1

Before beginning installation, let motorcycle cool down.

Metal Magic sleeve is coated with heat-resistant paint. Handle with care not to be hit or scratched by 

surroundings as the coating may come off. When cleaning silencer, use soft cloth with dish soap but do 

not use metal polish or chemical cleaner. 

CAUTION

Titanium Blue sleeve is colored by anodizing. Handle with care as the color may change. When cleaning 

silencer, use soft cloth with dish soap but do not use metal polish or chemical cleaner. 

CAUTION

Be sure not to damage each part during installation. 

Torque specification must be followed. If neglected, it may cause bolt and nut to fall off and damage to 

Yoshimura product and motorcycle.

CAUTION

CAUTION

CAUTION

5.  Installation steps:

GSX-R1000/R OPT EXP  2/6 GSX-R1000/R OPT EXP  3/6 GSX-R1000/R OPT EXP  4/6 GSX-R1000/R OPT EXP  5/6 GSX-R1000/R OPT EXP  6/6

Fig. 1

Spring Inner Tube

Exhaust Spring

2) Insert Spring Inner Tube into Exhaust Spring. (See Fig. 1)

It is normal that Spring Inner Tube is 
longer than Exhaust Spring. Inner Tube 
is hidden when Exhaust Spring is 
pulled.

REFERENCE

Spring Inner Tube is easily inserted by 
rotating.

REFERENCE

1) Check that all the component parts are in hand.

12) Check sticker numbers on Exhaust Collector and install 4 
of Exhaust Pipe in the right place from #4 >> #3 >> #1 >> 
#2 in order. Then, fit chips on Exhaust Pipe #1 and #3 to 
recesses on Exhaust Collector, adjust the position of 
Exhaust Pipe #1 and #4 to engine wide and install 4 of 
Exhaust Spring Long. (See Fig. 5)

Make sure that Exhaust Spring is 
hooked to spring installation tool firmly. 
If neglected, it may cause injury.

CAUTION

13) Peel stickers on Exhaust Collector and wipe down grease 
completely.

Make sure to remove stickers and 
grease during the installation. This will 
help prevent tarnishing of finish after 
exhaust system is heated up.

CAUTION

14) Mount header assy (assembled at Step. 12) to exhaust 
ports and fix it with 8 of stock bolt (See Fig. 6 & 7). 
Tighten bolts by hand only at this stage. 

15) Install Tailpipe to Exhaust Collector and fix them with 

Exhaust Spring Long (See Fig. 8).

Make sure that Exhaust Spring is 

hooked to spring installation tool firmly. 

If neglected, it may cause injury.

CAUTION

CAUTION

This exhaust is produced for street use only. In case that it is used on race circuit or tested on chassis dynometer, any 

damage or carbon discoloration is not included in warranty. 

Titanium Blue sleeve is colored by anodizing. Handle with care as the color may change. When cleaning silencer, use 

soft cloth with dish soap but do not use metal polish or chemical cleaner. 

CAUTION

- CAUTIONS AFTER INSTALLATION -
Check each bolt sometimes to see that there is no failure condition such as poor tightening. 

Quality control is implemented on all products. If, however, any defect or failure is found, please notify Yoshimura Japan 

through the selling dealer. Necessary technical service or replacing of the product will be made.

Due to improvement, the specifications and price of the product are subject to change without notice.

For any information regarding this product, please address inquiries to Yoshimura Japan Co., Ltd.

        Yoshimura Japan Co., Ltd. 

        6748 Nakatsu, Aikawa, Aiko, Kanagawa 243-0303 Japan

        Web site: http://www.yoshimura-jp.com   E-Mail: yj-world@yoshimura-jp.com

3. Optional Part :
Description

SILENCER BRACKET SET

Part No.

194-50A-0020

・スプリングに入れた状態では、インナーチューブが多少はみ

　出しますが、マフラーに装着した状態でスプリングが伸びて

　隠れますので問題ありません。

・インナーチューブを入れるとき、チューブを回転させると入

　れ易くなります。

モータープーリーを留めるボルトを外す際は、必ずモータープー

リーが回らないように注意して下さい。

モータープーリーが回転してしまうと、最悪の場合モーターユニ

ットを破損する恐れがあります。

※排気バタフライキャンセルステーを留める際は、必ず①排気

　バタフライキャンセルステーが回らないように注意して下さい。

　排気バタフライキャンセルステーが回転してしまうと、最悪

　の場合モーターユニットを破損する恐れがあります。

※取り付けの際は、①排気バタフライキャンセルステーの向きに

　注意して下さい。
See Fig. 6 for 
installation.

写真のモーターユニットは

別の車両のものです。

取り外すカラー

とラバー。

motor pulley

6) Remove stock rear fender and stock motor unit (See Fig. 

2).

7) Remove exhaust valve wires from stock motor unit.

3) According to Suzuki service manual, remove side fairing, seat fairing and seat. Then, remove exhaust valve wires 

from stock exhaust pipe.

4) Be careful not to damage the frame and swing arm, remove stock silencer assy or Yoshimura Slip-on. When 

removing Yoshimura Slip-on from vehicle, not take out Silencer Bracket and Tailpipe from Silencer Assy.

5) Remove O2 sensor and connector on stock header assy.

DANGER Do not turn on ignition switch before complete the work at Step 9). If neglected, it may cause 

serious damage to Exhaust Control Valve Actuator (EXCVA).

CAUTION Be careful not to damage the O2 sensor 

when removing. It is recommended to 

cover with soft cloth until remounted.

8) Remove stock bolt and stock motor pulley from stock motor unit.

CAUTION Be careful not to turn stock motor pulley. If neglected, it may cause serious damage to stock 

motor unit.

CAUTION Be careful not to damage radiator/oil 

cooler cores when removing stock 

header assy.

10) Re-install stock motor unit, rear fender, seat fairing and 

seat.

11) Remove stock bolts on radiator and oil cooler and move 

them to forward. Then, remove stock header assy.

9) Install Exhaust Control Valve Canceller Bracket on stock motor unit with Aluminum Spacer 12-20-7, Washer M12, 

Washer M5 and stock bolt. Then, tighten and torque bolt (See Fig. 3 & 4 on next page).

Tightening Torque

CAUTION Torque specification must be followed.

CAUTION Be careful not to turn Exhaust Control Valve Canceller Bracket when tighten and torque stock bolt. 

If neglected, it may cause serious damage to stock motor unit.

*Make sure to mount Exhaust Control Valve Canceller Bracket in right direction.

Stock bolt : 5Nm

17)            Remove Exhaust Spring and Tailpipe from Silencer Assy 

which is removed at Step 4). Then, loosen 2 of Button 

Bolt M6x13 on the Silencer Bracket for easy adjusting.

18) Install Silencer Assy into Tailpipe, and mount Silencer 

Assy to stock silencer bracket with Washer M8x26, stock 

bolt, washer and nut (See Fig. 10 & 11). Tighten the bolt 

by hand only at this stage.

Fig. 11Fig. 11

Refer Fig. 11 for 

installation.

Tailpipe

Silencer Assy

19) Fixed Silencer Assy and Tailpipe with Exhaust Spring 

Short (See Fig. 12).

Tailpipe

Exhaust Spring

Short

Silencer Assy

20) Check that there are proper clearances between 

Yoshimura exhaust system and other components. Then, 

tighten and torque 8 of stock bolt on exhaust ports, stock 

bolt on tailpipe bracket, 2 of Button Bolt M6x20 and stock 

bolt on Silencer Bracket in order (see Fig. 13).

22) Check proper clearances between header assy and other components such as radiator or engine and between 

Tailpipe or Silencer Assy and swing arm, etc. In case there is no clearance, loosen bolts and re-adjust the positon 

of exhaust pipes.

23) It is recommended that whole Yoshimura exhaust system 

to be wiped down with dish soap to remove oil and 

fingerprints. This will prevent tarnishing of finish after the 

exhaust system is heated up.

CAUTION Torque specification must be followed.

CAUTION When cleaning silencer, use soft cloth 

with dish soap. Do not use metal polish 

or parts cleaner. If neglect, the paint of 

Emblem and Metal Magic finish may 

come off or Titanium Blue color may 

tarnish. 

CAUTION Torque specification must be followed.

Tightening Torque O2 sensor   : 25Nm

21) Install O2 sensor which is removed at Step 5) on Exhaust 

Collector, tighten with the specified torque and connector 

the O2 sensor coupler to the vehicle.

24) Warm-up engine, and inspect the exhaust leakage. If 

exhaust leakage is found, seal the gaps of joint with 

silicone gasket etc. Tighten all bolts further after engine is 

cooled down. If any problem is found, please follow 

through instruction steps carefully again.

It is normal for new silencer to smoke 

until inside oil residue burns off.

REFERENCE

Oil filter wrench

After Installation

REFERENCE

CAUTION

Yoshimura Japan recommends to replace silencer inner wool every 5,000km (3,000miles) in order to get Yoshimura 

exhaust performances fully.

However, inner wool possibly worn out faster under certain circumstances even if less mileage.

Climate conditions and riding styles are factors which directly result in inner wool worn out. Keeping high engine 

revolution also causes further wool consumption.

Using Yoshimura exhaust with deteriorated inner wool causes lower performance and may damage the silencer and 

vehicle.

For further information about inner wool replacement, please contact local Yoshimura distributors.

Yoshimura Japan recommends to replace silencer inner wool when 50g of silencer weight is reduced.

When using Street Sports Full System R-11Sq for GSX-R1000/R L7 (P/N. 180-50A-C1xG0), it is highly recommended to 

NOT take out dB killer SD#140 from silencer assy.

If neglected, any trouble/damage is not included in warranty.

Without SD#140 (pre-installed), RH turn signal tend to be heated by exhaust gas and it would cause a damage under 

certain circumstances.

CAUTION

When replacing oil filter, use oil filter 

wrench like the sample shown on Fig. 

15.

REFERENCE

1

2

3

4

7

8
5

6

9

10

11

12

8

2.  Applicable Model :

Fig. 2Fig. 2

Fig. 7Fig. 7

Fig. 15Fig. 15

ＮＯ． 品名 数 品番 ＮＯ． 品名 数 品番

1 エキゾーストパイプ＃１ 1 181-50A-C100 8 マフラースプリングロング 5 118-000-1000

2 エキゾーストパイプ＃２ 1 182-50A-C100 9 排気バタフライキャンセルステー 1 148-984-0021

3 エキゾーストパイプ＃３ 1 183-50A-C100 10 アルミカラー １２－ ２０－ ７ 1 860-012-2007

4 エキゾーストパイプ＃４ 1 184-50A-C100 11 ＳＵＳワッシャＭ１２ 1 812-512-1815

5 集合部 1 119-414-5000 12 ＳＵＳワッシャＭ５ 1 812-205-1512

6 テールパイプ 1 185-50A-C100 ※ スプリングインナーチューブ 5 118-000-1100

7 フランジナットＭ８ 1 823-008-1250 ※ 耐熱シートＡ５ 1 896-001-005A

：修正部分

Refer Fig. 4 for 

installation.

Stock motor unit

Fig. 3Fig. 3 Fig. 4Fig. 4

Stock motor pulley holder

Stock

motor

unit

Aluminum Spacer

12-20-7

Exhaust Control Valve

Canceller Bracket

Stock bolt

Washer M5

Washer M12

Fig. 9Fig. 9

16) Mount Tailpipe on stock header bracket with stock bolt 

and Flange Nut M8 (See Fig. 8 & 9). Tighten bolt by hand 

only at this stage.

OutsideInside

Sight from back

Flange Nut M8

Stock bolt

Stock header bracket

Tailpipe

Fig. 12Fig. 12

OutsideInside

Sight from back

Silencer Bracket

Stock silencer

bracket

Washer M8x26

Stock bolt

Stock washer

Stock nut

Tightening Torque

Stock bolt (Exhaust ports)

Stock bolt (Tailpipe)

Button Bolt M6x20 (Silencer Bracket)

Stock bolt (Silencer Bracket)

: 15Nm

: 23Nm

: 10Nm

: 23Nm

25) Re-mount fairings.

Apply Heat Resistant Sheet where fairing and exhaust 

pipe is close and it prevents fairing from burning.

However it is recommended to keep 5mm or more 

clearance between fairing and Yoshimura exhaust 

system. If it is closer, adjust the position or cut minimum 

part of fairing (See Fig. 14).

If neglected, damage of fairing is not included in warranty.

REFERENCE

Fig. 10Fig. 10

Fig. 13Fig. 13

Fig. 14Fig. 14

Be careful not to damage radiator/oil 
cooler cores when mounting header 
assy.

CAUTION

Applicable Model  

Application

SUZUKI GSX-R1000/R 17-

Yoshimura Street Sports Slip-On R-11Sq only 

<SUZUKI GSX-R1000/R 17- Street Sports

Slip-On R-11Sq>

Part number : 180-50A-L1xGx


